202443 R 248 RANT (R R () MIR™
UREEE% i & B =® E =1 F# & B R &K =1 F# £ B =® E =1 F#
1DK 36,900~40,100(% £ #| — 2DK-2L DK 56,900~70,100[ % = 1| — 1R-1DK 31,200~34,400(% £ #| 3
1LDK 43,500~56,900|# = #| — M) 3DK 56,900~68,400(% % % 2 1LDK 37,900~44500(% % 18| —
RIAFELEZT 2DK 42,500~52,800| 5% = #&| 2 3LDK 60,700~76,100|8 £ #| 2 wsise 2DK 37,900~49,100|8 = #| 2
%%Tﬁ#& URSA+ED 2LDK 47,400~56,300( & = [ 1 (312) 4LDK 74,100~84,100(5 £ 1| — 2LDK 44,700~76,000(% = [ O
3K 44,600~54,300(% = | O 3K 40,500~51,800| & = 18| 1
— (181) 3DK 45400~57,000(% %= | O i (FERX) 3DK 44,700~54,200| & = 48| 3
x B&Jﬁ |¥] =]b RIAFLE=T 1DK 33,900~35,100|# = #&| 1 Hh & B X ES =1 F# 3LDK 71,700~92,600|& = 1&| 4
(185) 1LDK-2DK 47,800~50,400 |8 = 48| 1 (180) 4LDK 84,500~91,400( 8 = 48 —
Bth s4amh 1LDK 30,700~39,400(& = 1| — EAHE 3DK 62,000~ 64,000|& F & — 2DK 39,800~47,000& = & —
RKEH MRTH URSA 2DK 29,900~45900( & 5 1| — 2LDK-3LDK | 67,100~87,200(8 = 15| — 2LDK 45500~62,400|% % #| O
FfAT BIEFEH RIMFHEE—T 2LDK 40,300~53200[& $ #| 3 (275) 4LDK 91,300~108,400[& £ #| — KL 3K 39,600~48,200[& = 15| 1
REHT RETH 3K 43,600~47,100|% F #| — 1DK 67,900~74,900[ % 5 5| — 3DK 45200~62,800|% % #| O
fREa™ = HEMTh (178) 3DK 38,300~53 5008 & 15| — 1LDK 75,800~98,300 & = #| 1 (244) 3LDK 52,700~62,800|& % ] O
UNEL N3G 1DK 36,100~38,700( & = #&| — Yo7 TEARH 2DK 79,800~96,900(5 = #| — 1LDK 60,400~ 76,600(8# = #| —
ARNERT BEHFH 1LDK 41,400~43500|8 = #&| — 2LDK 87,700~120,900| & = #&| — 2LDK 65,500~86,400(8 = #| —
RIMBE=T 2DK 41,200~48,600| % = 1| — 3DK 97,200~ 105,000|8 = 48| — WAREH=TH 3DK 68,000~86,700( % = 1| 1
URSA+ET 2LDK 53,500|8 = #| — 3LDK 99,600~ 140,900|& = & — 3LDK 65,400~93700(% £ #| —
3K 46,100~50,800( & = 48 — (508) 4LDK 140,100~ 148,000(# = 5| — (370) 4LDK 91,800~ 118,300( & = 48 —
_ (189) 3DK 50,800~56,000(% £ #| — IK(BHEESDH) 9,200~9,700(8 = #| — & IETH
O 5FrLLED 1LDK 44500~47,100|8 = #&| 1 URSAb ZAEH F
EXNHYET, | fieswua—T 2DK 44,300~ 48,600| & % 4| 1 (092) 1LDK-2DK | 39.900~48,000|& % 78] 2
HMF TTXFPH 2LDK 47,400~54,100|% % 4| 3 1R-1DK 28,200~33,000( % £ #| — & K 2LDK 49,700~53,700|# £ #| —
—El ZTEFEH (196) 3K 46,100~53,800| 8 = 5| 2 myEE 1LDK-2DK-3K-3DK|  38,100~48,500|8 = #| 2 3K 44,000~51,100|8 = #| 1
HYEE A, 1R-1LDKth 49,100~62,900( % = #| — (097)[ 2LDK(+H) 59,700(% = #| — (154) 3DK 48,400~56,300( % = #| —
URSAh&IF, ZHHRRDEDHD RIAFRLE—T 2DK 48,800~54,800| 5 = | — s
HIEHMERDIETT 2L DK 3K 56,900~64,000(% £ 4| — RREMN RiEm
BB EAHTE (216) 3LDK 85,100~88,000(# = 48| — 1DK 29,400~46,900(% = | O 1LDK 55,300~64,700(% £ #| —
O —EMEEAEET RIEEREZT 2DK 34,400~38,000(% = 48| — 1LDK 46,100~48,700(# = 18| 4 2DK 61,500~67,400(% = 48| —
) URS Ak 2LDK 34,400~38,000(% £ #| — By # 2K 36,300~39,300( % % #| — p=1::Bld: 2L DK 65,700~78,700( % = % 1
# ERFEEY (219) 3K 34,100~ 38,700 @) 2DK 38,700~52,100(% % #| O 3DK 64,400~71,300(% £ 4| —
JL—R7yTEBMEEDBE. 1DK 45200~49,100(# = [ 1 3K 44,000~47,500|8 = #| — 3LDK 68,400~87,200(% £ #| 2
RTRREEHBASBAIHYES. | RIBBE=T 1LDK-2DK 57,000~65,100(% = & O | |¥ESRICKYFRTE 2L DK 74,500~81,600(% £ #] 1 (454) 4LDK 79,400~89,300(% £ #| —
BBEHBBEANETT (267)| 2LDK-3LDK 63,900~68,500(% £ #| — (069)| 3LDK-4LDK | 74,500~105600[% = & —
1LDK 59,900~63,100(% = 48| — 1DK 42,700~46,500|8 = 18| —
ﬁ%]"ﬁ%{d‘ 2DK4th 57,600~75,900|8 = #| — CEOFN 1LDK 49,200~67,900| % = | — ﬁﬁ?ﬁ
RIHWLEZT 2L DKt 68,600~89,800| % = 18] 1 2DK 48,900~50,500|8 = #| 1 1DK-1LDK 32,700~41,100[% = 48| 2
3LDK th 70,300~90,100[% = #&| O (224) 3DK 63,100~68,600(% = 1| — 2DK 32,000~44400[% % 15| O
4DK4th 71,700~84,900|& = #&| 2 —=-,—ET_H RE—E 2LDK 38,500~53,200| & = #&| 1
(320) 4LDK 78,400~92,900(% £ #| 2 = 3K 35,000~47,900(% = & O
RIAWLE=T 2LDK-3DK 47,700~58,200|& £ #| — URS A+ &R ERHT 1DK 30,100~32,700|& % #&| 1 3DK 38,500~57,300|# £ #&| O
(250) 3LDK 53,100~58,200(% £ #| — (195) 2DK 42,000~44,800 |8 = 48| 1 3LDK 50,700~51,000(% £ #| —
1LDK-2LDK | 72,100~86,400(% % 18| 1 (199) [4LDK-5DK-5LK|  60,000~70,800|& = 1| 4
...:.. ® 3. B sth BR A1 3LDK 77,400~99,600(% = #| O BxFE
..' '.. (296) 4LDK 85,900~ 101,800|& = #| 1 2DK - 2LDK 34,700~48,100[% % #&| O
) s ® 1R-1DK 56,100~65200(%2 £ | — REEE 3DK 41,200~52,600|% = #| O B EAFROFRICDOLTIE.
® : : ® 1LDK 70,300~82400(% £ | — (268) 4DK 51,700~60,400(% % #| O R—LR—URIERE R FI—ICTIHRIESL,
..-.... ) .. Rit/A—IE LA 2DK 70,300~88,500|& & — | FHIOBEDT—2THERK,
2LDK 107,200~112,700| & = — | FrUILFICKYRABURICEEEENRETHEELHYET, 2 3 gmy— on ke —EE £ 42
o T (520) 30K 103,800~ 106,300/ 8 % | — | SMAEOBNEICLY AL A—FyhBAYAFEREDBANBYET . FRARBERMIOLNTE /OLYRECRIZEL,
QUICK ATTEND ARG RN BEE0 BEETOHBAHXHEEE A,

HE-REEN—HBERICLHZEABYETDT
DWIFEEROTBRAVADOEESWL, REIF2023£28131RE,

FERES - REFEBEATERNEE,

[BEHRWNEFZUREREE]

QACABIERHR 72—



https://www.qac.co.jp/ur-kansai/estate_ur3.html
nakamura
qac_1


